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1. Please explain the followings statistical terms (1) precision (2) accuracy (3) variance inflation factor
(4) degree of freedom (5 points each, 20 points total) '

tal method is developed to test if the result is 50 mg/L or not. Suppose that if

48.5< % (sample mean) <51.5, we will not reject the null hypothesis Ho: u=50. If the true mean is 52,

1mexn

+

2. A hew exper

what is the power of this statistical test? (assuming the standard deviation ¢ is 2.5 mg/L. and the

sample number n is 10) (20 points)
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3. Astatistical program output for a random sample of data is shown below. Some of the quantities are

missing. Compute values (X and Y) of the missing quantities. (10 points)
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27.16

Minimum | Maximum

15.94

Variance

Y

~ StDev
(standard deviation)

312

SE Mean

{standard error of the sample mean)

19.96

N | Mean

9

4. For a regression model, please explain why sometimes a significant coefficient of determination (%)
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does not mean the model is useful? Could correlation coefficient (r) be negative? Why? (10 points)

alue (5) T value of T-test for the

hown in the following. Please find (1)

? and adjusted R (4) F v

ionis s
regressor (x) (6) Standard deviation of the model errors (7) Comment on the significance of the

.

5. A residual output from Excel for a simple linear regress
SSE, SSR and SST (2) MSE and MSR (3) R

regressor (x) for «=0.05 (8) Comment on the significance of the regression for ¢=0.05 (5 points each,

40 points total)
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0.73703552
-0.716234005

-0.00030475
0.000354968

0.834266847




